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 :      .  
 

1. (A)      .  14 

  

      .  

 (B)        : 4 

  (1)   ________   .  (, ) 

  (2)   ________    .   (, ) 

  (3)       .  (, ) 

  (4)          .  (, ) 

 

2. (A)       ?  14 

              

          .  

 (B)         4 

  (1)              

 _______     .  (, )  

  (2)     _______  .  (, )  

  (3)      _______  .  (, )  

  (4)     _______   .  (, ) 

 

3. (A)        . 14 

             

       .  
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 (B)        :  3 

  (1)   _______   . (, ) 

  (2)        _______ . (, ) 
  (3)             

 _______   . ( ,  ) 

 

4. (A)          . 14 

  

          .  

 (B)         3 

  (1)         _______  .  

     (, )  

  (2)             
 _______   .  (  ,  )  

  (3) _______          .  

     ( , )  

______________ 
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Instruction : Numbers on the right indicate marks. 
 
1. (A) Discuss the meaning and characteristics of managerial economics.  14 

OR 

  Discuss the responsibilities of a manager.  

 (B) Fill in the blanks by choosing the correct option : 4 

  (1) Managerial economics is a part of ________ economics. (micro, macro) 

  (2) The objective of a firm is to maximize ________. (cost, profit) 

  (3) Cost analysis is an important part of managerial economics. (True, False) 

  (4) Managerial decision making completely disregards government policies.  

(True, False) 

 

2. (A) What role does an economist play in managerial economics ?  14 

            OR 

  Discuss the concept of opportunity cost in context of managerial decision making.  

 (B) Fill in the blanks by choosing the correct option : 4 

  (1) The increase in total product value when the firm employs an additional 

factor input is known as _______ product value. (marginal, average) 

  (2) All type of opportunity cost is _______ cost. (explicit, intrinsic) 

  (3) Rent expenditure incurred by a firm is _______ cost. (intrinsic, explicit) 

  (4) Intrinsic cost and explicit cost are types of _______ cost. (production, sales) 

 

3. (A) Explain the meaning of demand and discuss its determinants. 14 

           OR 

  Discuss the usefulness of demand analysis in managerial economics.  
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 (B) Fill in the blanks by choosing the correct option :  3 

  (1) The demand curve has a _______ slope. (positive, negative) 

  (2) Demand for a good ________ when the number of its consumers increases. 

(increases, decreases) 

  (3) The proportionate change in demand for a good when price of substitute 

good changes is known as _______ of demand. (income elasticity, cross 

elasticity) 

 

4. (A) Explain the meaning of demand forecasting and discuss the methods of 

forecasting demand of a new product. 14 

OR 

  Discuss the trend projection method of forecasting demand of an existing product.  

 (B) Fill in the blanks by choosing the correct option :  3 

  (1) The trend projection method of demand forecasting is _______ expensive 

compared to the market experiment method. (more, less) 

  (2) When only the final consumers are included in a study it is called the 

_______  method of demand forecasting. (end use, census) 

  (3) In _______ method only a few units are selected for the survey. (census, 

sampling) 

______________ 
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B.A., Sem.-III 

CC-202 : Economics 
 

Time : 2:30 Hours]  [Max. Marks : 70 
 

  :      .  
 

1. (A)  ,    -    . 14 

  

   , ,          .  

 (B)         4 

  (1)  ________   . (33, 27) 

  (2)   ________   . (, ) 

  (3) ________     . (, )  

  (4) 2011   ________       .  

     (, ) 

 

2. (A)  , , ,  ,   - 
  . 14 

  

          ,     
  .  

 (B)        : 4 

  (1)  ________      . (, )  

  (2)  ________      . (, ) 

  (3) ________        . (, ) 

  (4) 2011         ________ . 
(919, 950) 
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3. (A)         .  14 

             

         .  

 (B)          3 

  (1)  ________      . (, ) 

  (2) ________      .  

   (.. , . ) 

  (3) ________    . ( ,  )  

 

4. (A)  1960      . 14 

                

        .  

 (B)         3 

  (1) ________         .  

    (, ) 

  (2) ________        .  

    (GDDC, GIDC) 

  (3)     (SEZ)  ________    .   

    (2004, 2007) 

____________ 
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1. (A) Discuss the social, economic and regional intra-state disparities in development. 14 

OR 

  Discuss the present status of Gujarat in terms of state domestic produce, 
agriculture, industry and services.  

 (B) Choose the correct option to fill in the blanks : 4 

  (1) There are ________ districts in Gujarat. (33, 27) 

  (2) Agriculture is a part of ________ sector. (secondary, primary) 

  (3) ________ is the longest river of Gujarat. (Sabarmati, Narmada) 

  (4) As per 2011 census ________ district has the highest population in Gujarat. 
(Ahmedabad, Banaskantha) 

 

2. (A) Examine the trends in birth rate, death rate, infant mortality rate, gender ratio, 
literacy rate and rural-urban distribution of population in Gujarat. 14 

OR 

  Analyse the growth rate of state domestic produce and the share of agriculture, 
industry and service sector in state domestic produce in Gujarat.  

 (B) Choose the correct option to fill in the blanks :  4 

  (1) ________ district has the lowest population in Gujarat. (Dang, Surat) 

  (2) ________ district has the highest population density in Gujarat.              
(Surat, Gandhinagar) 

  (3) ________ district has the lowest literacy rate in the state.                            
(Kutch, Dahod) 

  (4) As per 2011 census there were ________ women for every 1000 men in 
Gujarat. (919, 950) 
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3. (A) Discuss agricultural productivity and crop pattern in Gujarat.  14 

           OR 

  Analyse the role of Sardar Sarovar Yojana in irrigation in Gujarat.  

 (B) Choose the correct option to fill in the blanks :  3 

  (1) ________ district gets the highest rainfall in Gujarat. (Kheda, Dang) 

  (2) ________ is known as the Father of Green Revolution in India.  

   (M. S. Swaminathan, V. Kurien) 

  (3) ________ is a modern method of irrigation. (Drip irrigation, Tube well) 

 

4. (A) Discuss industrial development in Gujarat since 1960.  14 

              OR 

  Discuss the development of diamond industry in Gujarat.  

 (B) Choose the correct option to fill in the blanks :  3 

  (1) ________ was known as “Manchester of India” due to its textile industry. 
(Ahmedabad, Surat) 

  (2) It is the role of ________ to set up industrial estates in Gujarat. (GDDC, 
GIDC) 

  (3) Gujarat Special Economic Zone Act was passed in ________. (2004, 2007) 

____________ 


